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| What is Ravi’s height in centimetres? ;‘A.
-
8} Whatis thatin m's and cm's? | = )
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B s o We use a tape measure to measure Ravi’s height. 2
g 6
14 1m35cm , 7
- — Y 3
35 cm Ao 1m
5 1 or 35 cm , 9
> 100 cm
) ~ /7 !
8.~ 135
cm
5
3 1m <
5[ I1m35cm=100cm+ 35 cm
2 =135 cm
7 ks 3 Ravi’s height is 135 cm.
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If you can, measure the height
9/ of somebody else in your
-‘ home.

Use a tape measure to work it
out.
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Practical ?EI
':' Remember you need to start 16’
ok measuring form Ocm. )17
? "; What did you they measure? 73
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Y m and cm 7
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Practical

How many cm in 1m?

100cm = 1m

/

5@1 What did you measure in just cm?
84
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354 cm A
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Guided Practice

How tall is each person in centimetres?
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Elliott Ruby
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g Guided Practice
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How tall is each per: entimetres?
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Elliott Ruby
1m76 cm Imé4cm

140 ., 100cm 176 cm 104 cm
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Can you convert these measu

[ - ‘
rements in cm in mm?

T
Eg. 150cm= 1500mm

(the|y bécome 1Ox| big|ger)

1. 1im4 Olcm= Remember:
2 1 m _ o We use a tape measure to measure Ravi’s height.
: — | 1m35cm
35 cm { ‘ 1m \35

3 1 m 7 6 Cm —_ w IOOcm\

135cm

Im
1m 35cm =100 cm + 35 cm
4 1 m 4 cChm= " | .=1.35<:m
- Ravi’s height is 135 cm.
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Can you convert these measurements in cm in mm?

R s [ S I I IR S BN B
Eg. 150cm= 1500mm  (they become 10x bigger)

. 1m 40cm= 140cm = 1400mm

im= 100cm = 1000mm

im 76cm=176cm =1760mm

1m 4cm = 104cm = 1004mm
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Writing Length in Centimetres

o Fill in the blanks.

Ruby & I 1m30cm I
-

Holly “I 1m9cm :
L=

| 1m45cm
Sam Y|

Ruby, Holly and Sam draw a line.
9 Write the length of the line they draw in centimetres
5 (@) Ruby’slineis cm.

(b) Holly’s line is cm.

6 557570502 5%
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Writing Length in Centimetres

o Fill in the blanks.

Ruby & I 1m30cm I
Holly “: 1m9cm :
L | I1m45cm

Sam -4

Ruby, Holly and Sam draw a line.
9 Write the length of the line they draw in centimetres.
5 (@) Ruby’slineis 130 cm.

(b) Holly’s line is 109 cm.

6 535767956257 514
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° Match.

@ 1m 34cm @
b) 3m7cm @

(€0 2m 5cm @
92 d 9m97cm @
5 () 8m4cm @
91 ° Write eac e following in
d g 2nm

(b)) 3m2em=

d 8m7cm
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71 @ 9ms4c |:| om

6?53)—1“’67(945623 572 514> 475

® 997cm
® 134cm 2
® 804cm 6
® 256cm Z
® 307 cm
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° Match.

@ 1m 34cm @ S5 o

() 3m 7em 134 cm

€) 2m 56cm 804 cm
92 d 9m 97cm 256 cm
5 (e) 8m 4cm 307 cm
9 ° Werite each the following in centimetres.
4 (@) 2m40cm=cm
(b) 3m2em= cm

35[ © 5m65cm=-cm

71
1 @ 9m8icm= cm
5 . 984

6?53)—1“’67(945623 572 514> 475




Gomg 'Deeper

Writing Length in Metres
° Look at the diagram and fill in the blanks.

1km 400 m A

stadium

2km 900 m

e .
ke 1km is a much
(@) The distance between thel:lo dthel:l is the lar‘ger‘ uniT Of

shortest.

(b) The distance between the meGSur\emenT.

stadium and the school

is m. b
] There are

1000m in 1km.

TN

2 (c) The schoolis I:l m !!
? away from the house.
+ -




Gomg 'Deeper

Writing Length in Metres

° Look at the diagram and fill in the blanks.

1km 400 m A

stadium
‘./\r 2km 900 m
o . 1km is a much
@ mmm-- .. larger unit of

shortest.

(b) The distance between the meGSu r\emen-l-.

stadium and the school

[ 200 |m o zzooémm 900
There are

e 1000m in 1km.
(c) Theschoolis | 2065 m
2 2
away from the house. K
,1 % or_2000 m 65
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